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Part A: Vocabulary and Grammar

'1 ﬂ-—"ﬂ.&..g

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.,
Then mark your choice on your answer sheet.

She's not very -——-----—-- in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the ~----ee--- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial -------—- on the company are preventing them from employing new staff.

1) resolutions 2) deductions 3) approaches 4) constraints

The pattern ------ee-- from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be —---ccecee next year; people won't have to
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in---------- » but you'll need some practical work experience
before you can apply for the job.

1) process 2) function '3) orientation 4) exploitation

The report suggests that there has only been a(n) ------- --- improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous

She gave me this jumper, which she had -——------- herself,

1) knitted 2) knitted it 3) been knitted 4) been knitted it

The teacher suggested that Ali ---eeeeem- the lesson at least twice before taking the test.

1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to ------=m-- :

1) refuse 2) refusing 3) refused 4) be refused

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) ---------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million people (15) ---------- the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3)in 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating
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Part C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4).
Then mark it on your answer sheet,

PASSAGE 1:

The Selimiye Mosque in the city of Edime, Turkey was commissioned by Sultan
Selim II and was built by architect Sinan between the dates 1568-1574. This grand
mosque stands at the center of a kulliya which comprises a medrese, a dar-ul hadis, a
timekeeper's room and an arasta (row of shops). It also contains a historic hospital,
now a museum. In this mosque Sinan employed an octagonal supporting system that
is created through eight pillars incised in a square shell of walls. The four semi domes
at the corners of the square behind the arches that spring from the pillars, are
intermediary sections between the huge encompassing dome and the walls. While
conventional mosques were limited by a segmented interior, Sinan's effort at Edime
was a structure that made it possible to see the mikrab from any location within the
mosque. Surrounded by four of the tallest pencil-shaped minarets, the Mosque of
Selim II has a grand dome atop it. Around the rest of the mosque were many
additions: libraries, schools, hospices, baths, soup kitchens for the poor, markets,
hospitals, and a cemetery. These annexes were aligned axially and grouped, if
possible. In front of the splendid mosque sits a rectangular court with an area equal to
that of the mosque. The innovation however, comes not in the size of the building, but
from the organization of its interior. The mihrab is pushed back into an apse-like
alcove with a space with enough depth to allow for window illumination from three
sides. This has the effect of making the tile panels of its lower walls sparkle with

natural light. The amalgamation of the main hall forms a fused octagon with the
dome-covered square.

16-  Which of the following about the Selimiye Mosque is TRUE according to the passage?
1) Its main center consists of a Kulliya.
2) It contains a small business area in it.
3) It has a dar-ul hadis in a timelceeper's room.
4) Its only commission member was Sultan Selim II.

17- The passage states about the mosque that -------— .
1) its has a total of sixteen domes built on its pillars
2) there are eight supporting pillars in each of its walls
3) a square shell of walls provides its actual supporting system
4) the main dome and its intermediary section are located after the walls

18- The mosque, according to the passage, could be taken as unusual for its time in that ---------- :
1) its mihrab was in view from any location in the mosque's area
2) 1t contained such numerous additions as libraries, schools, baths, etc
3) its additions were all gathered together in an easily accessible group
4) it had four of the tallest penciled-shaped minarets built for mosques

19- Which of the following about the mosque is TRUE according to the passage?
1) The light in the mosque was provided mainly from a window illumination.
2) The mihrab is inside an enclosed space which gets light from the sides.
3) Its lower walls are made up of tile panels which can reflect natural light.
4) It was exceptional in the size of its court, the same size as the mosque itself.

20- The word 'incise' in line 6 is closest in meaning to ---------- ;
1) 'absorb’ 2) 'issue' 3) 'occur’ 4) 'plant’
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PASSAGE 2:

Culture has always been a major object of travel, as the development of the Grand
Tour from the 16th century onwards attests. In the 20th century, some people have
claimed, culture ceased to be the objective of tourism: tourism is now culture.
Cultural attractions play an important role in tourism at all levels, from the global
highlights of world culture to attractions that underpin local identities. Culture,
heritage and the arts have long contributed to appeal of tourist destination. However,
in recent years ‘culture’ has been rediscovered as an important marketing tool to
attract those travellers with special interests in heritage and arts. According to the
Hollinshead, cultural heritage tourism defines as cultural heritage tourism is the
fastest growing segment of the tourism industry because there is a trend toward an
increase specialization among tourists.This trend is evident in the rise in the volume of
tourists who seek adventure, culture, history, archaeology and interaction with local
people.Cultural heritage tourism is important for various reasons; it has a positive
economic and social impact, it establishes and reinforces identity, it helps preserve the
cultural heritage, with culture as an instrument it facilitates harmony and
understanding among people, it supports culture and helps renew tourism. Cultural
heritage tourism has a number of objectives that must be met within the context of
sustainable development such as; the conservation of cultural resources, accurate
interpretation of resources, authentic visitors experience, and the stimulation of the
earned revenues of cultural resources. We can see, therefore, that cultural heritage
tourism is not only concerned with identification, management and protection of the
heritage values but it must also be involved in understanding the impact of tourism on
communities and regions, achieving economic and social benefits, providing financial
resources for protection, as well as marketing and promotion.

We may understand from the passage that —-----—-,

1) cultural attractions play a role in tourism only at some high levels

2) tourism and culture in the 16th century were heavily interdependent

3) the Grand Tour is the most important development in cultural tourism

4) culture was not employed as a marketing tool in tourism for some time

It is stated in the passage that ---—------ ;

1) the tourism industry is growing at its fastest rate today

2) tourists nowadays are basically culturally specialized

3) most tourists are extremely interested in cultural heritage

4) cultural tourism is the most favourite type of tourism

Which of the following is NOT a feature of cultural heritage tourism according to the
passage?

1) It helps the growth of other industries.

2) It creates a sense of identity in the tourist.

3) It promotes the idea of harmoy among people.

4) It is an instrument to maintain the cultural heritage.

The passage does NOT state that cultural heritage tourism must involve ——------— ;

1) marketing 2) economic benefits

3) creation of values 4) management of heritage values

The word 'stimulation' in line 19 is closest {0 -------- -,

1) 'improvement’ 2) 'investment' 3) 'foundation’ 4) 'proposition’
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PASSAGE 3:

The third St Paul's (known as Old St Paul's, a nineteenth century coinage, or the pre-
Great Fire St Paul's), was begun by the Normans after the 1087 fire. Work took over
two hundred years, and a great deal was lost in a fire in 1136. Nonetheless the roof
was once more built of wood, which was ultimately to doom the building. The church
was consecrated in 1240, but a change of heart soon led to the commencement of an
enlargement programme in 1256. This 'New Work' was completed in 1314. The
cathedral was however consecrated in 1300. It was the third longest church in Europe.
Excavations in 1878, by Francis Penrose showed it had been at 585 feet long, 100 feet
wide (290 feet across the transepts and crossing), and had one of Europe's tallest spire

at some 489 feet. By the 16th century the building was decaying. Under Henry VIII
and Edward VI, the Dissolution of the Monasteries and Chantries Acts led to the
destruction of interior ornamentation in the cathedral as well as the cloisters, charnels,
crypts, chapels, shrines, chantries and various other buildings in the churchyard.
Many of these former religious sites in St Paul's Churchyard, having been seized by
the crown, were sold as shops and rental properties, especially to printers and
booksellers who were often evangelical Protestants. Buildings that were razed often
supplied ready-dressed building material for new construction projects, such as the
Lord Protector's city palace, Somerset House. Crowds were drawn to the northeast
corner of the Churchyard, St Paul's Cross, where open air preaching took place. It was
there in the Cross Yard in 1549 that radical Protestant preachers incited a mob to
destroy many of the cathedral's interior decorations.

Which of the following about the third St. Paul's is TRUE according to the passage?

1) It stopped changing shape only after 1300.

2) It 1s considered as the third largest church in Europe.

3) It was named Old St Paul's at the time of its completion.

4) It was under construction by the Normans before the 1087 fire.

We understand from the passage that the Old St Paul's was finally destroyed by --—--———-- .
1) Francis Penrose 2) the Normans 3) excavation 4) fire

It is stated about the Old St. Paul's in the passage that ---------- ;

. 1) it had started to decay long before the 16th century started

2) evangelical protestants were the main suppliers of its Churchyard

3) Lord Protector’s city palace was built quite near it at Somerset House

4) many of its features were damaged at the time of Henry VIII and Edward VI

We may understand from the passage that ---———--——,

1) the Churchyard in the Old St. Paul's was a place of worship

2) the Old St Paul's was totally destroyed by an angry mob in 1549

3) the Protestant preachers were not let in to the Old St. Paul's

4) the northeast of the Old St. Paul's was its most popular part with people

The word "incite' in line 20 is closest in meaning to ------—---- :

1) '"function’ 2) 'encourage’ 3) 'consider’ 4) 'affect’
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